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Convert interval notation to inequal ify notation or vice versa. Fina the €napomts
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> Review Terms — constant, algebraic expression, additive inverse/opposite,
multiplicative inverse/reciprocal.
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Convert 1.23 X 10° from scientific notation.
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P.2 Cartesian Coordinate System

Recall:
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» Properties of Absolute Value -
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» Midpoint Formula
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~ Find the midpoeint of & line segment with endpoints (3, 6) and (-2, 7).
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Find the standard form equatlon of the circle with a center of ( 6, 8), radius 2.
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P.3; Linear Equations and Inequalities

» Properties of Equality
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State whether the following are linear or not and how you know.
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Solve ~36{+2)+2@) = -4x + 4. Support your results with a calculator.
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- P.4 Lines in the Plane

» Slope of a Line & f“
o Vertical Line W

o Horizontal Line &— w(:) 5

» Slope-Intercept Form H m)( + b

> Point- Slope Form ((3 % m CX X \ . ,{i

> General Form (AKA Standard Porm)
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Use point-slope form to find an equation for the line that passes through (- Sé) and
has a slope of -3. Your final answer shou/;l\z&.ms.]%pe -intercept form.
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Example

Use point-slope form to find an equation for the line that passes through (1, 3) and
(-4, 9). Your final answer should be in slope- intercept fi
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Example X ('j

Write an equation of the line with a sfope of 2 that passes through the poin ( 4 7‘)
using the slope intercept form. ~ X JC
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a. Draw the graph of 3x - 2y”‘6 '3 (Oi"%) ?Q O>
b. Draw the graph o@ ((3 ,~3 ( 35 Q)\ ._'—\[-— *-‘ZX"\”B
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Example .

Find the equation of the line through P(2, -
equation 3x + 2y = 5.
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Find an equation for the line passing through the point an@ parallel th the given

line. P(-2, -2); 3x —2y = 4

Example

Find an equation of the line through P(2, 1) that is perpendicular to the lifle L with
equation —x + 2y = -3. Support the result with a grapher. '
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Find an equation of the line through P(2,1) that is perpendicular o the line L with
equation 3x —y = 3. Support the result with a grapher.
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Applving to Real-Life

American’s disposable income in trillions of dollars is given in the table.

Year | Amount

(trillions of

dollars)
2002 | 8
2003 | 8.4
2004 | 8.9 l
2005 | 9.3
2006 | 9.9
2007 | 10.4

(a)Write a linear equation for Americans’ disposable income y in terms of the year

x using the points (2002,8 ) and (2004,8.9). Lj.___ ) (_}S‘x__ %.c?rz‘q

(b) Use the equation in (aj o estimate Americans’ disposable income in 2005. q‘ 58—7!1:{“
(¢) Use the eguation in (a) to predict Americans’ disposable income in 2010, “ ‘ (Q 'H‘\‘ \

(d) Superimpose a graph of the linear equation in (a) on a scatter plot of the data.
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% Solve the equation 2x* —~3x — 2 = 0 -graphically. T
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Example — Algebraic

Solve the eqﬁatlon élgeBraically (;ZX — [} ey { (_0
(2x-) (2x-Y
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Example — Graphically

Solve the equation graphically Xg'\' &X - ( - O
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Example — Tables

Solve the equation x® + 2x — 1 = 0 using gl apher tabl (& Sﬂy

w30) 3

Try It— Tables

Solve the equation x® + 4x — 2 = 0 using grapher tables.
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Example — Algjraic(quadraticformula)‘ X: '
Solve the equation 2x* +3x-5=0, '
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Try It — Algebraic b 3'—_ L(C? - B“LF——}

Solve the equation by using the quadratic formula 4x? —6x =3
o4
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Example — Algebraic (completing the square)
Solve x? + 6x = 7 by completing the square. G%ba*
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Solve 2x2 —7x +9 = (¥ — 3&%’;1) + 3% by completing the square.
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Example — Graphically L-/ /\\

Solve the equa‘uon —2]x -2[=-3¢gr ayncally Then verify your answer

algebraically MQ :I]’\\L :
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Try It

Solve the equation |x — 5] = =9 -9 grep phically. Then verify your answer

algebraically.

\5\\

%‘é\s




PR [Ln"ﬁx
- P.6 Complex Numbers | S (W

A complex number is any number that can be written in the form

where g and b are real numbers. The _real number a is the real part, the real

number b is the imaginary part, and a + bi is the standard form.

» Recall: whén'you add or subtract complex numbers you add or subtract their
real and imaginary parts separately!

Example
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Try It
Write the suin or difference in standard form.

2) (1-7)+(12+325) [3¥aSC
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c) (4+300)+(-11-29) <~ T+
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Compiex So!utions of Quadf atic Equatlons
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» Discriminant

o Positive

o Negative NO (Qp&
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Examples - Absolute Value Inequalities

Solve the absolute value inequality: \Q\( +1 \ >Lf Write your answer in interval
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Solve the absolute value inequality (% Y+ ( \EQ Write your answer in interval
notation. 2 X +\ za Qg \ - QM
Y =N ox g
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Examples — Quadrahc Inequahties

Solve X ")i"(ﬂ O “algebraically.
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Solve X algebraically. )(Z«— Lf ) S }2 .é O
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Solve x? —4x + 1 = O graphically.
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Examples — Cubic Inequalities

\olve x3—3x2+12>0 graphlcally.
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# Solve =x% 4+ x% + x > 0 graphically.

—.618,0, | b{¥

(-, m] U e I. (01%:]

o Projectile Motion (

o
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___-Suppose an object is launched vertically from a point s, feet above the ground with
an initial velocity of vy feet per second: The vertical position s (in feet) of the
object ¢ seconds-after it is launched is -

S=—16f2+lvof+50- S = — l(ptz‘l’:);%%t -\d%_o

o 2,705t
A projectile is launched straight up from ground level }\Sdl= -1t + & 88/6

( 122 O
with an initial velocity of 288ft/sec, -1 Ut._'tzﬁ(%(: HER O
(a) When will the projectile’s height above ground be 1152 fi? t ™ \3(5*'7 =
whz (£17 Y (£-6) =

(b) When will the projectile’s helght above ground be at least 1152 ft?
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